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limiting reactant & percent yield
CAeMis¥ry: http://genest.weebly.com

Stop in for help every day at lunch and Tues, Weds., &Thurs after school!

Afier-iours quesfion? Email me af home: cosenest@medison.ki2.wivs

1. (Circle answers). slculate the theoretical yield by converiing the amount
of each of theg€actang} / products) into the amount of just one of the (reactants @
2. The reactant that gives the least product is called the L 'M ] T'NQ &E.Ag: JANT

3. The formula for finding percent yield is: b AcTu AL Y'[LD
BYEWD = e v " 7

The balanced reaction we used in lab:
2 Al — 2 KOHep + 4 H2SOs0:¢ — 22 H2O@ — 2 KA1(SO9)212H:0¢) = 3 Ho:

4. Using a periodic table and the information above, fill in these conversion faciors:

. T"wm w*'é o0 + , 0' é——— 1 mole of potassium hydroxide =5_6'|g,rams
FRom Tﬂt @mw — i mole of H,SO, =l moles of H,

Ba.10)= 310
:“%;6;3 % q‘ig _yy g 2. mole of Al = ; moles of KAI(SO,),+12H,0

2« () = G4 1 ]

g 2o (16 )=320.
H:

24x(1o)~ 24.24 = 1 mole of KAI(SO,),+12H,0 = Mgrams KAI(SO4),=12H,0

5. In a perfect world, if you react 808 goles of H,S0, in the above reaction how many moles of H, will you
P ) "
9et? GO (o \'\ZSD\JK mel Ha . éO(g 3 HZ/
'-’ Mol HZSOH

6. In the real world, Bobby Brown does the above reaction with 808 moles f H.SO, a
moles of Hz Wha was Mr. Brown % yield? c>/ 50} molt, 82 7 c

80B mol Hg50; /5 éoémnHZH«eofakq) © o6,
w;ﬁl; ‘:‘;,_

7. If Mr. Brown tries the experimel
enough of the other reactant
a. which \{Vlll be the ll

3-grams of KOH and more than

‘#’\ IZ?)“] KoH_ l Kgﬁ q.]"{
50l okoH 2 G\ &

b. How many grams of KAI(SO,),= 12H20 will be his theoretical y|e|d7
AUM
A/\Qwar l DLIO SromJA\,uM

c. If he only gets 208 g of KAI(SO,),=12H,0, what was his % yield?

Of oz i /Laa AUJM &
% gidet = W*{OO = PCL0%




8. Calculate the answer writing both number and correct UNIT.

(4g1"amsZn)’( 3 mLH; / SwEZn L.(jfﬁ&.
P\

7 mL Zn

1mis /”z\ 2 miHsT)

9. In a perfect world, if you react 40.8 grams of Al in the above reaction how many moles of
KAI(SO,), 12H20 will you et?
K < /7 (ol ALy = 1.5 woles AU,/]/

Ho,.%
" lwan ) ) =

10. In the real world you attempt the above reaction with 40.8 grams of Al and you only get.680. grams of

4ot Of KAI(SO4);+12H;0 vy ,
a. What was your °2 ylelc21’7 Ll %‘L;};LC,;L = 1.5 ™) Au,\/) i{m 7{ 73 Mun
wmo ) ALY

% yold= —GEI o < qu.8

b. List three Jhlngs that mlght hav7e caused your yield to be so low:

8 P‘ lle C mils?
— !/\CO reacylon
™ oz,b W PEACTANT S
- accl % durlly vreas Uity
11. If you try the above reaction again, using 3.00 grams of alu mum an 5 grams of KOH and more
than enough of the other reactants, P\\QQ\Q{(_Q-. S P\L\) MNGNY

a. which will be the limiting reactant?*

3.00 Q{‘\B\P\ tlj(o‘gp\ (;L
% | ,_O_LL %?Q\i T \mo\Aw aM&LN\

h ”EQ'K’O” %< T AL

b. How many grams of KAI(SO4),=12H,0 will be y

Arouer S0 8 o pLom
c. Ifyou only get 30.6 g of KAI(SO,),*12H,0, what was your % yield?

ao \ ‘30(0 LUM O/

*Strategy: Try converting grams of the first reactant into grams of product, Then do the same for the second reactant. The limiting
reactant will be whichever reactant gives the least product

**Strategy: Do a conversion, using the grams of your limiting reactant as the starting point and trying to finish up in grams of your
product.




